s B, 'ﬁ

passage based/tntegrated units of
‘ " ; %L land 2 marks each respectlvely
. !.I ] - 1

‘Section A
éM“ltlple Choice Questions)

Ach question carnes 1 mark

.= : A [2 ] ) |
B ' =3 lsanon“smgular matnx then
(a) =2 |

C )ik -2
2. Direction ratios of a [ine ; j

©) k#2 (d) k # —2
acute angle with the X-am:l:::g thf‘- points A(0,1,6) and B(2,3,4) so directed that line AB makes
(3)11)1 ; 1 i "'111
. e O OFw"w ° @353
i (:‘)higo(;nt which does not lie in the halfp]ane of3x —y < 4is i
0) ®) (1,1 () (1,%2) (d) (1,2)
4. If points A, B, C are collinear, then -' b
(a) |AB| = |4c]| (b) AB (c)AB.AC =0 (d) AB X AC = 0
fr The value of k for which the function f(x) = [kx' w; ejc;_f:':xbx S 0} is continuous at x = 0 is
i@k (b) 0 ()6 | @3
If f(x) is derivative of g(x) then antiderivative of f(x) is
X (a) g(0) (b) g(x) () g +C (d)2g(x)

of3n—mis

vy : 2 . s
,//7 [fmandn rcspectwely, are the order and degree of the differential equation ( ) = x, then value

X A
o @3 (b) 6 ©)2 !
IfA= [a ] is a symmetric matrix of order n, then
8.() P __i_vu (b)aU:#OVU (©)a; =0 fori+j
a) Ay =gy "

(d)a;; = a;; Vi, j
1

-4




iand b represent diagonals of a rhombus, then
=0 waxb=0  ©ldl=[B

10. The value of [~ dx is

@) 3 (b)

(c) 7 7 ";

@ =

I'1. Comer points of the feasible region of an LPP whose objective function is Z = px +qy are -:*’ﬁ.‘(:v‘j,_'fﬁ}f,-1
B(0,4), C(2, 1) and D(1,6). If value of Z is same at the points A and D, then relation between p and q
is :

@) p=2q (b 3p=2q © 2p=q (d)p+29=0

LAf2x 4 :
12.1f A = [ 3 x] and |B| = 12. The value(s) of x if |A| = |B| is (are):

St WG - o2 (d) Viz

13.IfAisa square matrix of order 3 such that |A. Adj A| = 64, then |A| is
Ll ®4 (c) +8 (@8

14. Given two -_.indEpendent'é-\.wcntsA and B such that P(A)=0.4 and P(B) = 0.7 then P(ANB) =
(a) 2.8 (b) 0.28 (c) 0.18 (d) 0.42

15. The general solution of the differential equation % = logx is

(a) xlogx —x + C ()~ +C (©) =+ ¢ (d)xlogx +C
16. If A is a square matrix of order 3 and |A| = —4, then |A?| is

(a) —4 (b) 16 _ (c) —16 (d) -8
17.1f y :_sin'1 x, then V1 — x2 y, is equal to

@1 (b) sin™" x O (e =
(8. Ifd+b+¢&=0,d#+Db,b#0,#0then

(a) a.b=b.¢ ®axb=bx¢  (©ldl+|b|+I¢él=0 (d)|a+b|=Iél

ASSERTION-REASON BASED QUESTIONS

In the following questions, a statement of assertion (A) is followed by a"rstalement of Reason (R). Choose the

correct answer out of the following choices.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.

(c) A is true but R is false.
(d) A is false but R is true.

19. Assertion (A) : sin”*(1.01) exists,

" Reason (R) : Domain of sin™' x is x € [—1,i]



iiz4.-_r.s:mw that |b|a + Ialb and |b;a ..-|_
25.The circular waves are moving at the rate of 0.7 ¢
of clrcular wave is 7cm?

; _ : SECTION C

= This section comprises of short answer type questions (SA) of 3 maj
26. Evaluate ) e dx i : -
27. Solve the differential equation tany.sec’x dx + tanx sec’y dy = 0 I

) /8 Two defective bulbs are accidently mixed with 6 good ones. If three bulbs are drawn a
- the mean number of defective bulbs drawn. . !
Jii—-x S

: 29 E.valuate fs A dx | : 2% =

Evaluate [° |2x +1]ldx .,

- 30. Solve the following linear programming problem:
MaximizeZ =x+y .
Subject to the constraints 2x + y <50,x +2y <40,x =20,y 20

dx
;i D B e
31 | valuate f Vo
.Ir 1
SECTION D ! < NS
This section comprises of long answer-type questions (LA) of 5. marks each

é’LetA {1,2,3,4,5,6} andeearelatlon mAxAdet‘medas(ab)R(c,d) iffa+d=b

(a,b),(c,d) € A x A.Prove thatR isan cquwalence relation, also obtain equivalence
'y+1 x+1 y=-2

-1
% Find the shortest distance between the lines == . = = Z and = AR Z = 4. Al

B3 mtersectmg‘?’

- 734, Solve the system of equations:

o 3 0B 4 6 5 6 9 20
S e N
X F YA Y2 S 5y

3

L






